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1 | HEEER 034 | 054 | 074 | 169 | 194 | 229 | 269 | 344 | 370 | 427 | 467 | 5.15
2 | HEERAO 020 040 | 135| 160| 195| 235 3.10| 336 | 393 | 433 | 4.81
3 | HEZ=ER 020 115 140 1.75| 215 290 | 3.16 | 3.73 | 413 | 4.61
4| E£TB 095 120 155| 1.95| 270 | 296 | 353 | 3.93 | 4.41
6 | HEKE7THEE 025| 060 1.00| 1.75| 201 | 258 | 298| 3.46
7 | HERBSERA 035] 075 150 | 1.76 | 2.33 | 2.73 | 3.21
ZA®RS5TH 040 | 1.15| 1.41 | 198 | 238 | 2.86
9 | dZAE 075 | 101 | 158 1.98 | 2.46
1| ZEREFFE 026 | 083 1.23| 1.71
12| BHELAREERS 057 | 097 | 1.45
13| ZARATHE=E 040 | 0.88
14| NEERTE 0.48
15| TE/NEHER
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